Review Apportionment
Vocabulary:

1. What are the 4 methods of apportionment and what sets them apart from the others?

a. Ham N v’ a1t leffowers "o NlghesT Jdecima
b. Je fFerson: Jzuue divisey w’{ :A'r{virz_fﬂ"ec»" fu,‘ § Sum 0 F [Tems bLig a
c. Welster 4 i-JiUL{',Q. L\/ LT R, +Hun round by alfhme e rmert
a. Hll / o . cowa tfic wern
2. How do you find the ideal ratio? _gum o & cpylatices & *# / few oot (e
3. How do you find quotas? exch ')"0}’\1"’0 Howe = =2 R,
4. Define Truncating_ (/07 cle e e
5. Define Fair Share fva/‘m /71 S ot { i.,-, K 75 [or
6. Define Apportionment __ i s+ 44 ben (or allthmeet) vt glo
7. Define Modified Divisor__c 1«7or the T. R, .
8. How do you find a modified quota? __pepulating = mectified i/t
9. How do you find geometric mean? _Sgu.at root— o Hu < odeT o durs nTgpess
Problems:
1. Jim, Kim and Andy are heirs to an estate that has a car, boat, house and $300,000 cash.
Car Boat House
Jim 4770000 - 6000 125000 - 'I“ILQZ?.gﬁ‘«‘A:'Nw
Kim 9000 fs00.7 129000 I‘W = 1/3sa
Andy 8000 7200 130000 (45 200+ ¢=h. seng
at €

E:

— 0 {:)

,2 Christian, Sam and Shimee wish to divide up the following items.

B. Find each person’s fair share.

e a. Listitems received. . Fi ;
{;(‘ 0 ¢. Find the amount of cash owed / received to equal the fair share.
(‘r

d. Whatis the final settlement?

on previe’s (””‘ 5 bfrk

ol 2t Christian Sam Shimee
Tractor 529@0) $18,000 $15,000
Excavator 446,000 $42,000 $35,000
8 family potraits $3,000 $2,000 /w
Horse farm {5201,000 D $190,000 $180,000

a. Listitems received.

b. Find each person’s fair share.
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¢. Find the amount of cash owed / received to equal the fair share.
d. What is the final settlement?
3. Johnny’s school for the Tired has 956 freshman, 760 sophomores, 440 juniors and 344 seniors. There are 25

seats on the student council. Determine the number of seats for each class using the following methods.
2399 = 100

a. Find the ideal ratios= 55 b. Findthe quotas 756 e 7.4 277
c. Apportion using Hamilton’s Method d. Apportion using Jefferson’s method
P 14 ?g 1 3 25_/6,‘/ 3
b.  Apportion using Hill's method f. Apportion using Webster's method.
o g 4 3 lo & Y 3

4. Imagine there are 24 seats to be divided up among 4 states whose populations are 59,000, 26,500, 16,500 and

e g . )
a. Find the ideal ratios= 2 Y b. Findthequotas 2 (| S ¥9 =2 67 (.33
d. Apporltuéon using Hamiltoln’s Method d. App rtgi%r; usin qJeffers%n’slmethod (16560 %4) = yns
c. Apportion using Hill's method f. Apportion using Webster's method.
2 & % | 2 &6 4 |

Review: Voting Theory
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1. Find the Plurality Winner. ¢ Remeted Ev
Le, 3
2. Bordawinner. C  (ou yacic) (m B) ¢ -
3. Run-off — Ay (fom P)
4. Sequentialrunoff € /... feck) LU &
5. Condorcet C
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